RIODR 11"7 '01N K,10 2109 .7"'02

Logically, it is the opposite — X92ano» NOB5ON

OVERVIEW

727 rules that regarding "'y, which is thrown into the n%ni v, it does not require
7P nw, however regarding y»n, which is thrown into other rivers, it does require
7179, A0 17 argued that logic dictates the opposite; 1"y which does not dissolve
requires 7P Nw, but ynn which dissolves should not require 717°9. Our NBOIN is
somewhat puzzled by the expression X72n007 RIDX.

TOMN MIVN N2IY 1193 NI TOW NNT AW 1IN NIDIN WY
The expression X72no» Xop°X does not fit well; for how is the term NX>9°N
applicable since 17129 equates 1"'¥1 Y111 to each other.

SUMMARY
701" 21 and 7127 are not assuming opposite views (regarding 1"¥1 ynnm).

THINKING IT OVER

Can we perhaps answer M2010 question in the following manner. 7127 assumes that
one Mwn requires N7 (by y71n) and the other does not require 7P nw (by 1"¥). 217
7o 1s asking why make this assumption (that they are discussing different 0°»)
and therefore 77" *va ynn, when the simple logic dictates (that if one requires
7P nw/1°0 and the other does not); it is the 1"V that requires the 7P nw (since &9
1o mn), but ynn does not require 71170 (since 0°»71), which is the opposite of the way
727 interpreted the n1awn (as to which requires M9/ApNW).

! qo1 27 argues that 1"y needs 7w more than y»m needs M1°0. How is this the opposite of 727. The opposite would
mean that 727 maintains that y»1 needs 7170 more than 1"y needs P nw, but 727 says that 1"¥1 y»an (intrinsically) are
the same, the only difference depends on where they are thrown into (however if they were both thrown into the
same place [whether 7717 2 or M171 “XW] the rule would be the same, both for y»n and 1"'v).
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